Reprint

**ISSN 0973-9424** 

# INTERNATIONAL JOURNAL OF MATHEMATICAL SCIENCES AND ENGINEERING APPLICATIONS

(IJMSEA)



www.ascent-journals.com

International J. of Math. Sci. & Engg. Appls. (IJMSEA) ISSN 0973-9424, Vol. 15 No. II (December, 2021), pp. 11-16

## ON GENERALIZED LEFT DERIVATIONS AS HOMOMORPHISONS AND ANTI - HOMOMORPHISMS

S. LALITHA<sup>1</sup>, S. SREENIVASULU<sup>2</sup> AND A. MALLIKARJUN REDDY<sup>3</sup>

 <sup>1</sup> Department of Mathematics, Research Scholar, S.K.University, Ananthapuramu-515003, A. P.India & Lecturer in Mathematics,GDC(Yerraguntla),Kurnool, India
 <sup>2,3</sup> Department of mathematics, GDC (M), S.K.University, Ananthapuramu-515003, A.P. India

#### Abstract

Let R be a 2-torsion free prime ring and  $I \neq 0$  an Ideal of R and F is a generalized left derivation of R. In this paper we study the following conditions such that either F(xy) = F(x)F(y) or F(xy) = F(y)F(x) for all ,  $xy \in I$ , then R is commutative.

## 1. Introduction

Throughout the present paper R will denote an associative ring with center Z(R). For any  $x, y \in R$  the symbol [x, y] stands for the commutator xy - yx the symbol (xoy)stands for the anti commutator xy + yx, thus the commutator identities.

- (i) [xy, z] = x[y, z] + [x, z]y
- (ii) [x, yz] = y[x, z] + [x, y]z for all  $x, y, z \in R$ .

\_\_\_\_\_

© http://www.ascent-journals.com

Key Words : Left derivations, Generalized left derivations.

<sup>2010</sup> AMS Subject Classification : 16W25, 16N60,16U80.

Recall that a ring R is called prime if for any  $a, b \in R$ , aRb = (0) implies that either a = 0 or b = 0 however, in case prime rings Bell and Kappe [1] established that if I is a non zero right ideal of a prime ring R and  $d : R \to R$  is a derivation of R such that d acts as a homomorphism or as anti-homomorphism on I. Then d = 0 on R. In the year 1990, Bresar and vukman [2] introduced the notion of a left derivation as follows. An additive mapping  $d : R \to R$  is said to be a left derivation if d(xy) = xd(y) + yd(x) holds for all  $x, y \in R$ . In [3], Bresar was introduced the generalized derivation. An additive mapping  $F : R \to R$  is said to be generalized left derivation on R if there exists a left derivation  $d : R \to R$  such that F(xy) = xF(y) + yd(x) holds for all  $x, y \in R$ . Nadeem-Ur-Rehman [4] proved that Let R be a 2-torsion free prime ring and I be a non zero ideal of R. Suppose  $F : R \to R$  is a non zero generalized derivation with d.

- (i) If F acts as a homomorphism on I and if  $d \neq 0$ , then R is commutative.
- (ii) If F acts as anti-homomorphism on I and if  $d \neq 0$ , then R is commutative.

In the present paper our objective is to extend this result for generalized left derivation acting on ideals in prime ring.

## 2. Preliminaries

**Lemma 2.1:** [5, lemma 3]: Let R be a prime ring and I be a non zero right ideal of R. If d is a non zero derivation on R then d is non zero on I.

**Lemma 2.2** [6, lemma 2] : If a prime ring R contains a non zero commutative righ ideal, then R is commutative.

## 3. Main Results

**Theorem 3.1** : Let R be a 2-torsion free prime ring and I be a non zero Ideal of R. Suppose  $F : R \to R$  is a non zero generalized left derivation with left derivation d where d commutes with I

- (i) If F(xy) = F(x) F(y) for all  $x, y \in I$  and if  $d \neq 0$  (That is if F acts as a homomorphism on I) and if  $d \neq 0$  then R is commutative.
- (ii) If F(xy) = F(y)F(x) for all  $x, y \in I$  and if  $d \neq 0$  (That is if F acts as an anti homomorphism on I) and if  $d \neq 0$  then R is commutative.

**Proof** : (i) If F acts as a homomorphism on I then we have, for all  $xy \in I$ .

$$F(xy) = xF(y) + yd(x) = F(x)F(y)$$
 (3.1)

Replace x by zx, Since F is a generalized left derivation

$$F(zxy) = zF(xy) + xyd(z)$$
 "for all  $x, y, z \in I$  (3.2)

$$F(zxy) = F(zx)F(y) \text{ for all } x, y, z \in I$$
(3.3)

$$F(zxy) = F(zx)F(y) \text{ for all } x, y, z \in I$$
$$= \{zF(x) + xd(z)\}F(y) \text{ for all } x, y, z \in I$$
$$= zF(x)F(y) + xd(z)F(y) \text{ for all } x, y, z \in I.$$

Using (3.1)

$$F(zxy) = zF(xy) + xd(z)F(y) \text{ for all } x, y, z \in I$$
(3.4)

Comparing (3.2) and (3.4)

$$zF(xy) + xyd(z) = zF(xy) + xd(z)F(y)$$
 for all  $x, y, z \in I$ .

We get xyd(z) = xd(z)F(y) for all  $x, y, z \in I$ 

$$\begin{aligned} xyd(z) + xd(z)y - xd(z)y &= xd(z)F(y) \quad \text{for all} \quad x, y, z \in I \\ xyd(z) - xd(z)y - xd(z)F(y) - xd(z)y \quad \text{for all} \quad x, y, z \in I. \\ X[y, d(z)] &= xd(z)(F(y) - y) \quad \text{for all} \quad x, y, z \in I. \end{aligned}$$

d commutes with I we get

$$xd(z)(F(y) - y) = 0 \quad \text{for all} \quad x, yz \in I$$

$$d(z)x(F(y) - y) = 0 \quad \text{for all} \quad x, y, z \in I.$$
(3.5)

Thus, primness of R forces that Either d(z) = 0 or (F(y) - y) = 0 for all  $x, y, z \in I$ . If d(z) = 0, for all  $z \in I$  then d = 0. A contradiction. On the other hand if F(y) - y = 0

$$\Rightarrow F(y) = y \text{ for all } y \in I$$
$$\Rightarrow F(x) = x \text{ for all } x \in I.$$

Now

$$\begin{aligned} xy &= F(x)F(y) \quad (\text{since } F \text{ is homomorphism}) \\ &= F(xy) \quad (\text{since } F \text{ is generalized left derivation}) \\ &xy = xF(y) + yd(x) \quad \text{for all} \quad x, y \in I \\ &xy - xF(y) = yd(x) \quad \text{for all} \quad x, y, z \in I \\ &x(y - F(y)) = yd(x) \quad \text{for all} \quad x, y, z \in I \\ &(y - y) = yd(x) \quad \text{for all} \quad x, y, z \in I \end{aligned}$$

We get

$$yd(x) = 0$$
 for all  $x, y \in I$  (3.6)  
 $Id(x) = 0$  for all  $x \in I$ 

Again since  $i \neq 0$  and R is prime we get d(x) = 0 for all  $x \in I$  and hence d = 0. Again contradiction.

(ii) If F acts as an anti homomorphism on I and if  $d \neq 0$  then R is commutative. **Proof**: If F acts as an ant homomorphism on

$$I.F(xy) = F(y)F(x) \tag{3.7}$$

Since F is generalized left derivation

$$F(xy) = xF(y) + yd(x) = F(y)F(x)$$
 (3.8)

Replace y by xy.

$$F(xy)F(x) = F(xxy) = xF(xy) + xyd(x)$$
(3.9)

Since  ${\cal F}$  is an anti hommorphism

$$F(xxy) = F(xy)F(x)$$
(3.10)

right multiplying (3.8) with F(x)

$$(xy)F(x) = \{xF(y) + yd(x)\}F(x)$$
$$= xF(y)F(x) + yd(x)F(x)$$
$$F(xy)F(x) = xF(xy) + yd(x)F(x)$$
(3.11)

Equating (3.9) and (3.11)

$$xF(xy) + xyd(x) = xF(xy) + yd(x)F(x)$$

we get

$$xyd(x) = yd(x)F(x) \tag{3.12}$$

replace y by zy in (3.12)

$$xzyd(x) = zyd(x)F(x)$$
(3.13)

Left multiply (3.12) with z we get

$$zxyd(x) = zyd(x)F(x)$$
 for all  $x, y, z \in I$  (3.14)

Equating (3.13) and (3.14)

$$\begin{aligned} xzyd(x) &= zxyd(x) \quad \text{for all} \quad x, y, z \in I \\ [x, z]yd(x) &= 0 \quad \text{for all} \quad x, y, z \in I \\ \Rightarrow [x, z]Idx &= 0 \quad \text{for all} \quad x, y, z \in I. \end{aligned}$$
(3.15)

Thus primness of R implies that for each  $x, z \in I$  either [x, z] = 0 or d(x) = 0. If d(x) = 0 then d = 0.

If [x, z] = 0 for all  $x, y, z \in I$ , by lemma 2.2 R is commutative.

### References

- Bell H. E. and Kappe L. C., Rings in which derivations satisfying certain algebraic conditions Acts, Math. Hung. 53(3-4), (1989), 339-346.
- [2] Bresar M. and Vukman J., On left derivations and related mappings Proc. Amer Math. Soc., 110 (1990), 7-16.

- [3] Bresar M., On the distance of the composition of two derivations to the generalized derivations Glasgow. Math. J., (1991), 89-93.
- [4] Rehman N., On generalized derivations as homomorphisms and anti homomorphisms Glasnik matematicki, 39(1) (2004), 27-30.
- [5] Bell H. E. and Marfindale W. S., Canad Math. Bull (1987), 92-101.
- [6] Mayne J. H., Canad, Math Bull., 27 (1984), 122-26.